Article

# Some Identities on Type 2 Degenerate Bernoulli Polynomials of the Second Kind 

Taekyun Kim ${ }^{\text {1,2 }}$, Lee-Chae Jang 3,*, Dae San Kim ${ }^{4}$ © and Han Young Kim ${ }^{2}$<br>1 School of Sciences, Xian Technological University, Xi'an 710021, China; tkkim@kw.ac.kr<br>2 Department of Mathematics, Kwangwoon University, Seoul 139-701, Korea; gksdud213@kw.ac.kr<br>3 Graduate School of Education, Konkuk University, Seoul 05029, Korea<br>4 Department of Mathematics, Sogang University, Seoul 121-742, Korea; dskim@sogang.ac.kr<br>* Correspondence: Lcjang@konkuk.ac.kr

Received: 9 March 2020; Accepted: 23 March 2020; Published: 2 April 2020


#### Abstract

In recent years, many mathematicians studied various degenerate versions of some special polynomials for which quite a few interesting results were discovered. In this paper, we introduce the type 2 degenerate Bernoulli polynomials of the second kind and their higher-order analogues, and study some identities and expressions for these polynomials. Specifically, we obtain a relation between the type 2 degenerate Bernoulli polynomials of the second and the degenerate Bernoulli polynomials of the second, an identity involving higher-order analogues of those polynomials and the degenerate Stirling numbers of the second kind, and an expression of higher-order analogues of those polynomials in terms of the higher-order type 2 degenerate Bernoulli polynomials and the degenerate Stirling numbers of the first kind.


Keywords: type 2 degenerate Bernoulli polynomials of the second kind; degenerate central factorial numbers of the second kind

## 1. Introduction

In [1,2], Carlitz initiated study of the degenerate Bernoulli and Euler polynomials and obtained some arithmetic and combinatorial results on them. In recent years, many mathematicians have drawn their attention to various degenerate versions of some old and new polynomials and numbers, namely some degenerate versions of Bernoulli numbers and polynomials of the second kind, Changhee numbers of the second kind, Daehee numbers of the second kind, Bernstein polynomials, central Bell numbers and polynomials, central factorial numbers of the second kind, Cauchy numbers, Eulerian numbers and polynomials, Fubini polynomials, Stirling numbers of the first kind, Stirling polynomials of the second kind, central complete Bell polynomials, Bell numbers and polynomials, type 2 Bernoulli numbers and polynomials, type 2 Bernoulli polynomials of the second kind, poly-Bernoulli numbers and polynomials, poly-Cauchy polynomials, and of Frobenius-Euler polynomials, to name a few [3-10] and the references therein.

They have studied those polynomials and numbers with their interest not only in combinatorial and arithmetic properties but also in differential equations and certain symmetric identities [7,9] and references therein, and found many interesting results related to them [3-6,8,10]. It is remarkable that studying degenerate versions is not only limited to polynomials but also extended to transcendental functions. Indeed, the degenerate gamma functions were introduced in connection with degenerate Laplace transforms [11,12].

The motivation for this research is to introduce the type 2 degenerate Bernoulli polynomials of the second kind defined by

$$
\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}(1+t)^{x}=\sum_{n=0}^{\infty} b_{n, \lambda}^{*}(x) \frac{t^{n}}{n!}
$$

and investigate its arithmetic and combinatorial properties. The facts in Section 1 are some known definitions and results that are needed throughout this paper. However, all of the results in Section 2 are new.

We will spend the rest of this section in recalling some necessary stuffs for the next section.
As is known, the type 2 Bernoulli polynomials are defined by the generating function $[5,13]$

$$
\begin{equation*}
\frac{t}{e^{t}-e^{-t}} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{*}(x) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

From (1), we note that

$$
\begin{equation*}
B_{n}^{*}(x)=2^{n-1} B_{n}\left(\frac{x+1}{2}\right), \quad(n \geq 0) \tag{2}
\end{equation*}
$$

where $B_{n}(x)$ are the ordinary Bernoulli polynomials given by

$$
\frac{t}{e^{t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}
$$

Also, the type 2 Euler polynomials are given by [5,13]

$$
\begin{equation*}
e^{x t} \operatorname{sech} t=\frac{2}{e^{t}+e^{-t}} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{*}(x) \frac{t^{n}}{n!} \tag{3}
\end{equation*}
$$

Note that

$$
\begin{equation*}
E_{n}^{*}(x)=2^{n} E_{n}\left(\frac{x+1}{2}\right), \quad(n \geq 0) \tag{4}
\end{equation*}
$$

where $E_{n}(x)$ are the ordinary Euler polynomials given by [14,15]

$$
\frac{2}{e^{t}+1} e^{x t}=\sum_{n=0}^{\infty} E_{n}(x) \frac{t^{n}}{n!}
$$

The central factorial numbers of the second kind are defined as $[5,8]$

$$
\begin{equation*}
x^{n}=\sum_{k=0}^{n} T(n, k) x^{[k]} \tag{5}
\end{equation*}
$$

or equivalently as

$$
\begin{equation*}
\frac{1}{k!}\left(e^{\frac{t}{2}}-e^{-\frac{t}{2}}\right)^{k}=\sum_{n=k}^{\infty} T(n, k) \frac{t^{n}}{n!} \tag{6}
\end{equation*}
$$

where $x^{[0]}=1, x^{[n]}=x\left(x+\frac{n}{2}-1\right)\left(x+\frac{n}{2}-2\right) \cdots\left(x-\frac{n}{2}+1\right),(n \geq 1)$.
It is well known that the Daehee polynomials are defined by $[16,17]$

$$
\begin{equation*}
\frac{\log (1+t)}{t}(1+t)^{x}=\sum_{k=0}^{n} D_{n}(x) \frac{t^{n}}{n!} \tag{7}
\end{equation*}
$$

When $x=0, D_{n}=D_{n}(0)$ are called the Daehee numbers.

The Bernoulli polynomials of the second kind of order $r$ are defined by [15]

$$
\begin{equation*}
\left(\frac{t}{\log (1+t)}\right)^{r}(1+t)^{x}=\sum_{k=0}^{n} b_{n}^{(r)}(x) \frac{t^{n}}{n!} . \tag{8}
\end{equation*}
$$

Note that $b_{n}^{(r)}(x)=B_{n}^{(n-r+1)}(x+1), \quad(n \geq 0)$. Here $B_{n}^{(r)}(x)$ are the ordinary Bernoulli polynomials of order $r$ given by [8,15-18]

$$
\begin{equation*}
\left(\frac{t}{e^{t}-1}\right)^{r} e^{x t}=\sum_{k=0}^{n} B_{n}^{(r)}(x) \frac{t^{n}}{n!} \tag{9}
\end{equation*}
$$

It is known that the Stirling numbers of the second kind are defined by [8]

$$
\begin{equation*}
\frac{1}{k!}\left(e^{t}-1\right)^{k}=\sum_{n=k}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \tag{10}
\end{equation*}
$$

and the Stirling numbers of the first kind by [8]

$$
\begin{equation*}
\frac{1}{k!} \log ^{k}(1+t)=\sum_{n=k}^{\infty} S_{1}(n, k) \frac{t^{n}}{n!} \tag{11}
\end{equation*}
$$

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by [11,12]

$$
\begin{equation*}
e_{\lambda}^{x}(t)=(1+\lambda t)^{\frac{x}{\lambda}}=\sum_{n=0}^{\infty}(x)_{n, \lambda} \frac{t^{n}}{n!}, \tag{12}
\end{equation*}
$$

where $(x)_{0, \lambda}=1,(x)_{n, \lambda}=x(x-\lambda) \cdots(x-(n-1) \lambda), \quad(n \geq 1)$.
In particular, we let

$$
\begin{equation*}
e_{\lambda}(t)=e_{\lambda}^{1}(t)=(1+\lambda t)^{\frac{1}{\lambda}} \tag{13}
\end{equation*}
$$

In [1,2], Carlitz introduced the degenerate Bernoulli polynomials which are given by the generating function

$$
\begin{equation*}
\frac{t}{e_{\lambda}(t)-1} e_{\lambda}^{x}(t)=\sum_{n=0}^{\infty} \beta_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{14}
\end{equation*}
$$

Also, he considered the degenerate Euler polynomials given by [1,2]

$$
\begin{equation*}
\frac{2}{e_{\lambda}(t)+1} e_{\lambda}^{x}(t)=\sum_{n=0}^{\infty} \mathcal{E}_{n, \lambda}(x) \frac{t^{n}}{n!} . \tag{15}
\end{equation*}
$$

Recently, Kim-Kim considered the degenerate central factorial numbers of the second kind given by $[8,13]$

$$
\begin{equation*}
\frac{1}{k!}\left(e_{\lambda}^{\frac{1}{2}}(t)-e_{\lambda}^{-\frac{1}{2}}(t)\right)^{k}=\sum_{n=k}^{\infty} T_{\lambda}(n, k) \frac{t^{n}}{n!} \tag{16}
\end{equation*}
$$

Note that $\lim _{\lambda \rightarrow 0} T_{\lambda}(n, k)=T(n, k)$.

## 2. Type 2 Degenerate Bernoulli Polynomials of the Second Kind

Let $\log _{\lambda} t$ be the compositional inverse of $e_{\lambda}(t)$ in (13). Then we have

$$
\begin{equation*}
\log _{\lambda} t=\frac{1}{\lambda}\left(t^{\lambda}-1\right) \tag{17}
\end{equation*}
$$

Note that $\lim _{\lambda \rightarrow 0} \log _{\lambda} t=\log t$. Now, we define the degenerate Daehee polynomials by

$$
\begin{equation*}
\frac{\log _{\lambda}(1+t)}{t}(1+t)^{x}=\sum_{n=0}^{\infty} D_{n, \lambda}(x) \frac{t^{n}}{n!} \tag{18}
\end{equation*}
$$

Note that $\lim _{\lambda \rightarrow 0} D_{n, \lambda}(x)=D_{n}(x),(n \geq 0)$. In view of (8), we also consider the degenerate Bernoulli polynomials of the second kind of order $\alpha$ given by

$$
\begin{equation*}
\left(\frac{t}{\log _{\lambda}(1+t)}\right)^{\alpha}(1+t)^{x}=\sum_{n=0}^{\infty} b_{n, \lambda}^{(\alpha)}(x) \frac{t^{n}}{n!} . \tag{19}
\end{equation*}
$$

Note that $\lim _{\lambda \rightarrow 0} b_{n, \lambda}^{(\alpha)}(x)=b_{n}^{(\alpha)}(x),(n \geq 0)$. From (19), we have

$$
\begin{equation*}
\left(\frac{\lambda t}{(1+t)^{\frac{\lambda}{2}}-(1+t)^{-\frac{\lambda}{2}}}\right)^{\alpha}(1+t)^{x-\frac{\lambda \alpha}{2}}=\sum_{n=0}^{\infty} b_{n, \lambda}^{(\alpha)}(x) \frac{t^{n}}{n!} . \tag{20}
\end{equation*}
$$

For $\alpha=r \in \mathbb{N}$, and replacing $t$ by $e^{2 t}-1$ in (20), we get

$$
\begin{align*}
\sum_{m=0}^{\infty} b_{m, \lambda}^{(r)}(x) \frac{1}{m!}\left(e^{2 t}-1\right)^{m} & =\left(\frac{\lambda t}{e^{t \lambda}-e^{-t \lambda}}\right)^{r} \frac{1}{t^{r}}\left(e^{2 t}-1\right)^{r} e^{(2 x-\lambda r) t} \\
& =\sum_{k=0}^{\infty} B_{k}^{*}\left(\frac{2 x}{\lambda}-r\right) \frac{\lambda^{k} t^{k}}{k!} \sum_{m=0}^{\infty} S_{2}(m+r, r) 2^{m+r} \frac{1}{\binom{m+r}{r}} \frac{t^{m}}{m!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n}\binom{n}{m} B_{n-m}^{*}\left(\frac{2 x}{\lambda}-r\right) \lambda^{n-m} \frac{S_{2}(m+r, r)}{\left(_{m}^{m+r}\right.} 2^{m+r}\right. \tag{21}
\end{align*} 2^{m!} \frac{t^{n}}{n!} .
$$

On the other hand,

$$
\begin{align*}
\sum_{m=0}^{\infty} b_{m, \lambda}^{(r)}(x) \frac{1}{m!}\left(e^{2 t}-1\right)^{m} & =\sum_{m=0}^{\infty} b_{m, \lambda}^{(r)}(x) \sum_{n=m}^{\infty} S_{2}(n, m) 2^{n} \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} b_{m, \lambda}^{(r)}(x) 2^{n} S_{2}(n, m)\right) \frac{t^{n}}{n!} \tag{22}
\end{align*}
$$

From (21) and (22), we have

$$
\begin{equation*}
\sum_{m=0}^{n} b_{m, \lambda}^{(r)}(x) S_{2}(n, m)=\sum_{m=0}^{n}\binom{n}{m} B_{n-m}^{*}\left(\frac{2 x}{\lambda}-r\right) \lambda^{n-m} \frac{S_{2}(m+r, r)}{\binom{m+r}{r}} 2^{m+r-n} \tag{23}
\end{equation*}
$$

Now, we define the type 2 degenerate Bernoulli polynomials of the second kind by

$$
\begin{equation*}
\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}(1+t)^{x}=\sum_{n=0}^{\infty} b_{n, \lambda}^{*}(x) \frac{t^{n}}{n!} \tag{24}
\end{equation*}
$$

When $x=0, b_{n, \lambda}^{*}=b_{n, \lambda}^{*}(0)$ are called the type 2 degenerate Bernoulli numbers of the second kind. Note that $\lim _{\lambda \rightarrow 0} b_{n, \lambda}^{*}(x)=b_{n}^{*}(x)$, where $b_{n}^{*}(x)$ are the type 2 Bernoulli polynomials of the second kind given by

$$
\frac{(1+t)-(1+t)^{-1}}{\log (1+t)}(1+t)^{x}=\sum_{n=0}^{\infty} b_{n}^{*}(x) \frac{t^{n}}{n!}
$$

From (19) and (24), we note that

$$
\begin{align*}
\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}(1+t)^{x} & =\frac{t}{\log _{\lambda}(1+t)}(1+t)^{x}\left(1+\frac{1}{1+t}\right) \\
& =\frac{t}{\log _{\lambda}(1+t)}(1+t)^{x}+\frac{t}{\log _{\lambda}(1+t)}(1+t)^{x-1} \\
& =\sum_{n=0}^{\infty}\left(b_{n, \lambda}^{(1)}(x)+b_{n, \lambda}^{(1)}(x-1)\right) \frac{t^{n}}{n!} \tag{25}
\end{align*}
$$

Therefore, we obtain the following theorem.
Theorem 1. For $n \geq 0$, we have

$$
b_{n, \lambda}^{*}(x)=b_{n, \lambda}^{(1)}(x)+b_{n, \lambda}^{(1)}(x-1)
$$

Moreover,

$$
\sum_{m=0}^{n} b_{m, \lambda}^{(r)}(x) S_{2}(n, m)=\sum_{m=0}^{n}\binom{n}{m} B_{n-m}^{*}\left(\frac{2 x}{\lambda}-r\right) \lambda^{n-m} \frac{S_{2}\left(\begin{array}{c}
m+r, r) \\
\binom{m+r}{r}
\end{array} 2^{m+r-n}, ~\right.}{\text {, }}
$$

where $r$ is a positive integer.
Now, we observe that

$$
\begin{align*}
\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}(1+t)^{x} & =\sum_{l=0}^{\infty} b_{l, \lambda}^{*} \frac{t^{l}}{l!} \sum_{m=0}^{\infty}(x)_{m} \frac{t^{m}}{m!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n}\binom{n}{l} b_{l, \lambda}^{*}(x)_{n-l}\right) \frac{t^{n}}{n!} \tag{26}
\end{align*}
$$

where $(x)_{0}=1,(x)_{n}=x(x-1) \cdots(x-n+1),(n \geq 1)$. From (24) and (26), we get

$$
\begin{equation*}
b_{n, \lambda}^{*}(x)=\sum_{l=0}^{n}\binom{n}{l} b_{l, \lambda}^{*}(x)_{n-l} \quad(n \geq 0) \tag{27}
\end{equation*}
$$

For $\alpha \in \mathbb{R}$, let us define the type 2 degenerate Bernoulli polynomials of the second kind of order $\alpha$ by

$$
\begin{equation*}
\left(\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}\right)^{\alpha}(1+t)^{x}=\sum_{n=0}^{\infty} b_{n, \lambda}^{*(\alpha)}(x) \frac{t^{n}}{n!} \tag{28}
\end{equation*}
$$

When $x=0, b_{n, \lambda}^{*(\alpha)}=b_{n, \lambda}^{*(\alpha)}(0)$ are called the type 2 degenerate Bernoulli numbers of the second kind of order $\alpha$.

Let $\alpha=k \in \mathbb{N}$. Then we have

$$
\begin{equation*}
\sum_{n=0}^{\infty} b_{n, \lambda}^{*(k)}(x) \frac{t^{n}}{n!}=\left(\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}\right)^{k}(1+t)^{x} \tag{29}
\end{equation*}
$$

By replacing $t$ by $e_{\lambda}(t)-1$ in (29), we get

$$
\begin{align*}
\frac{k!}{t^{k}} \frac{1}{k!}\left(e_{\lambda}(t)-e_{\lambda}^{-1}(t)\right)^{k} e_{\lambda}^{x}(t) & =\sum_{l=0}^{\infty} b_{l, \lambda}^{*(k)}(x) \frac{1}{l!}\left(e_{\lambda}(t)-1\right)^{l} \\
& =\sum_{l=0}^{\infty} b_{l, \lambda}^{*(k)}(x) \sum_{n=l}^{\infty} S_{2, \lambda}(n, l) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} b_{l, \lambda}^{*(k)}(x) S_{2, \lambda}(n, l)\right) \frac{t^{n}}{n!}, \tag{30}
\end{align*}
$$

where $S_{2, \lambda}(n, l)$ are the degenerate Stirling numbers of the second kind given by [6]

$$
\begin{equation*}
\frac{1}{k!}\left(e_{\lambda}(t)-1\right)^{k}=\sum_{n=k}^{\infty} S_{2, \lambda}(n, k) \frac{t^{n}}{n!} . \tag{31}
\end{equation*}
$$

On the other hand, we also have

$$
\begin{align*}
\frac{k!}{t^{k}} \frac{1}{k!}\left(e_{\lambda}(t)-e_{\lambda}^{-1}(t)\right)^{k} e_{\lambda}^{x}(t) & =\frac{k!}{t^{k}} \frac{1}{k!}\left(e_{\lambda}^{2}(t)-1\right)^{k} e_{\lambda}^{x-k}(t) \\
& =\frac{k!}{t^{k}} \frac{1}{k!}\left(e_{\frac{\lambda}{2}}(2 t)-1\right)^{k} e_{\lambda}^{x-k}(t) \\
& =\sum_{m=0}^{\infty} S_{2, \frac{\lambda}{2}}(m+k, k) \frac{2^{m+k}}{\binom{m+k}{k}} \frac{t^{m}}{m!} \sum_{l=0}^{\infty}(x-k)_{l, \lambda} \frac{t^{l}}{l!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{m=0}^{n} \frac{\binom{n}{m} 2^{m+k}}{\binom{m+k}{k}} S_{2, \frac{\lambda}{2}}(m+k, k)(x-k)_{n-m, \lambda}\right) \frac{t^{n}}{n!} . \tag{32}
\end{align*}
$$

Therefore, by (30) and (32), we obtain the following theorem.
Theorem 2. For $n \geq 0$, we have

$$
\sum_{l=0}^{n} b_{l, \lambda}^{*(k)}(x) S_{2, \lambda}(n, l)=\sum_{l=0}^{n} \frac{\binom{n}{l} 2^{l+k}}{\binom{l+k}{k}} S_{2, \frac{\lambda}{2}}(l+k, k)(x-k)_{n-l, \lambda} .
$$

In particular,

$$
2^{n+k} S_{2, \frac{\lambda}{2}}(n+k, k)=\binom{n+k}{k} \sum_{l=0}^{n} b_{l, \lambda}^{*(k)}(k) S_{2, \lambda}(n, l) .
$$

For $\alpha \in \mathbb{R}$, we recall that the type 2 degenerate Bernoulli polynomials of order $\alpha$ are defined by $[5,13]$

$$
\begin{equation*}
\left(\frac{t}{e_{\lambda}(t)-e_{\lambda}^{-1}(t)}\right)^{\alpha} e_{\lambda}^{x}(t)=\sum_{n=0}^{\infty} \beta_{n, \lambda}^{*(\alpha)}(x) \frac{t^{n}}{n!} \tag{33}
\end{equation*}
$$

For $k \in \mathbb{N}$, let us take $\alpha=-k$ and replace $t$ by $\log _{\lambda}(1+t)$ in (33). Then we have

$$
\begin{align*}
\left(\frac{(1+t)-(1+t)^{-1}}{\log _{\lambda}(1+t)}\right)^{k}(1+t)^{x} & =\sum_{l=0}^{\infty} \beta_{l, \lambda}^{*(-k)}(x) \frac{1}{l!}\left(\log _{\lambda}(1+t)\right)^{l} \\
& =\sum_{l=0}^{\infty} \beta_{l, \lambda}^{*(-k)}(x) \sum_{n=l}^{\infty} S_{1, \lambda}(n . l) \frac{t^{n}}{n!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n} \beta_{l, \lambda}^{*(-k)} S_{1, \lambda}(n . l)\right) \frac{t^{n}}{n!} \tag{34}
\end{align*}
$$

where $S_{1, \lambda}(n, l)$ are the degenerate Stirling numbers of the first kind given by

$$
\begin{equation*}
\frac{1}{k!}\left(\log _{\lambda}(1+t)\right)^{k}=\sum_{n=k}^{\infty} S_{1, \lambda}(n, k) \frac{t^{n}}{n!} \tag{35}
\end{equation*}
$$

Note here that $\lim _{\lambda \rightarrow 0} S_{1, \lambda}(n, l)=S_{1}(n, l)$. Therefore, by (26) and (34), we obtain the following theorem.
Theorem 3. For $n \geq 0$ and $k \in \mathbb{N}$, we have

$$
b_{n, \lambda}^{*(k)}(x)=\sum_{l=0}^{n} \beta_{l, \lambda}^{*(-k)}(x) S_{1, \lambda}(n, l)
$$

We observe that

$$
\begin{align*}
& \frac{1}{k!} t^{k}=\frac{1}{k!}\left((1+t)^{\frac{1}{2}}-(1+t)^{-\frac{1}{2}}\right)^{k}(1+t)^{\frac{k}{2}} \\
& \quad=\frac{1}{k!}\left(e_{\lambda}^{\frac{1}{2}}\left(\log _{\lambda}(1+t)\right)-e_{\lambda}^{-\frac{1}{2}}\left(\log _{\lambda}(1+t)\right)^{k}(1+t)^{\frac{k}{2}}\right. \\
& \quad=\sum_{l=k}^{\infty} T_{\lambda}(l, k) \frac{1}{l!}\left(\log _{\lambda}(1+t)\right)^{l} \sum_{r=0}^{\infty}\left(\frac{k}{2}\right)_{r} \frac{t^{r}}{r!} \\
& \quad=\sum_{l=k}^{\infty} T_{\lambda}(l, k) \sum_{m=l}^{\infty} S_{1, \lambda}(m, l) \frac{t^{m}}{m!} \sum_{r=0}^{\infty}\left(\frac{k}{2}\right)_{r} \frac{t^{r}}{r!} \\
& \quad=\sum_{m=k}^{\infty} \sum_{l=k}^{m} T_{\lambda}(l, k) S_{1, \lambda}(m, l) \frac{t^{m}}{m!} \sum_{r=0}^{\infty}\left(\frac{k}{2}\right)_{r} \frac{t^{r}}{r!} \\
& \quad=\sum_{n=k}^{\infty}\left(\sum_{m=k}^{n} \sum_{l=k}^{m} T_{\lambda}(l, k) S_{1, \lambda}(m, l)\binom{n}{m}\left(\frac{k}{2}\right)_{n-m}\right) \frac{t^{n}}{n!} . \tag{36}
\end{align*}
$$

On the other hand,

$$
\begin{align*}
\frac{1}{k!} t^{k} & =\left(\frac{t}{\log _{\lambda}(1+t)}\right)^{k} \frac{1}{k!}\left(\log _{\lambda}(1+t)\right)^{k} \\
& =\sum_{l=0}^{\infty} b_{l, \lambda}^{(k)} \frac{t^{l}}{l!} \sum_{m=k}^{\infty} S_{1, \lambda}(m, k) \frac{t^{m}}{m!} \\
& =\sum_{n=k}^{\infty}\left(\sum_{m=k}^{n} S_{1, \lambda}(m, k) b_{n-m, \lambda}^{(k)}\binom{n}{m}\right) \frac{t^{n}}{n!} . \tag{37}
\end{align*}
$$

Therefore, by (36) and (37), we obtain the following theorem.
Theorem 4. For $n, k \geq 0$, we have

$$
\sum_{m=k}^{n} \sum_{l=k}^{m} T_{\lambda}(l, k) S_{1, \lambda}(m, l)\binom{n}{m}\left(\frac{k}{2}\right)_{n-m}=\sum_{m=k}^{n} S_{1, \lambda}(m, k) b_{n-m, \lambda}^{(k)}\binom{n}{m} .
$$

## 3. Conclusions

In this paper, we introduced the type 2 degenerate Bernoulli polynomials of the second kind and their higher-order analogues, and studied some identities and expressions for these polynomials. Specifically, we obtained a relation between the type 2 degenerate Bernoulli polynomials of the second and the degenerate Bernoulli polynomials of the second, an identity involving higher-order analogues of those polynomials and the degenerate Stirling numbers of second kind, and an expression of higher-order analogues of those polynomials in terms of the higher-order type 2 degenerate Bernoulli
polynomials and the degenerate Stirling numbers of the first kind.
In addition, we obtained an identity involving the higher-order degenerate Bernoulli polynomials of the second kind, the type 2 Bernoulli polynomials and Stirling numbers of the second kind, and an identity involving the degenerate central factorial numbers of the second kind, the degenerate Stirling numbers of the first kind and the higher-order degenerate Bernoulli polynomials of the second kind.

Next, we would like to mention three possible applications of our results. The first one is their applications to identities of symmetry. For instance, in [7] by using the $p$-adic fermionic integrals it was possible for us to find many symmetric identities in three variables related to degenerate Euler polynomials and alternating generalized falling factorial sums.

The second one is their applications to differential equations. Indeed, in [9] we derived an infinite family of nonlinear differential equations having the generating function of the degenerate Changhee numbers of the second kind as a solution. As a result, from those differential equations we obtained an interesting identity involving the degenerate Changhee and higher-order degenerate Changhee numbers of the second kind.

The third one is their applications to probability. For example, in [19,20] we showed that both the degenerate $\lambda$-Stirling polynomials of the second and the $r$-truncated degenerate $\lambda$-Stirling polynomials of the second kind appear in certain expressions of the probability distributions of appropriate random variables.

These possible applications of our results require a considerable amount of work and they should appear as separate papers. We have witnessed in recent years that studying various degenerate versions of some special polynomials and numbers are very fruitful and promising [21]. It is our plan to continue to do this line of research, as one of our near future projects.

Author Contributions: T.K. and D.S.K. conceived of the framework and structured the whole paper; D.S.K. and T.K. wrote the paper; L.-C.J. and H.Y.K. checked the results of the paper; D.S.K. and T.K. completed the revision of the article. All authors have read and agreed to the published version of the manuscript.
Funding: This research received no external funding.
Conflicts of Interest: The authors declare that they have no competing interests.

## References

1. Carlitz, L. Degenerate Stirling, Bernoulli and Eulerian numbers. Utilitas Math. 1979, 15, 51-88.
2. Carlitz, L. A degenerate Staudt-Clausen theorem. Arch. Math. 1956, 7, 28-33. [CrossRef]
3. Dolgy, D.V.; Kim, T. Some explicit formulas of degenerate Stirling numbers associated with the degenerate special numbers and polynomials. Proc. Jangjeon Math. Soc. 2018, 21, 309-317.
4. Haroon, H.; Khan, W.A. Degenerate Bernoulli numbers and polynomials associated with degenerate Hermite polynomials. Commun. Korean Math. Soc. 2018, 33, 651-669.
5. Jang, G.-W.; Kim, T. A note on type 2 degenerate Euler and Bernoulli polynomials. Adv. Stud. Contemp. Math. 2019, 29, 147-159.
6. Kim, T. A note on degenerate Stirling polynomials of the second kind. Proc. Jangjeon Math. Soc. 2017, 20,319-331.
7. Kim, T.; Kim, D.S. Identities of symmetry for degenerate Euler polynomials and alternating generalized falling factorial sums. Iran. J. Sci. Technol. Trans. Sci. 2017, 41, 939-949. [CrossRef]
8. Kim, T.; Kim, D.S. Degenerate central factorial numbers of the second kind. Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Mat. RACSAM 2019, 1-9. [CrossRef]
9. Kim, T.; Kim, D.S. Differential equations associated with degenerate Changhee numbers of the second kind. Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 2019, 113, 1785-1793. [CrossRef]
10. Kim, T.; Yao, Y.; Kim, D.S.; Jang, G.-W. Degenerate $r$-Stirling numbers and $r$-Bell polynomials. Russ. J. Math. Phys. 2018, 25, 44-58. [CrossRef]
11. Kim, T.; Jang, G.-W. A note on degenerate gamma function and degenerate Stirling numbers of the second kind. Adv. Stud. Contemp. Math. 2018, 28, 207-214.
12. Kim, T.; Kim, D.S. Degenerate Laplace transfrom and degenerate gamma funmction. Russ. J. Math. Phys. 2017, 24, 241-248. [CrossRef]
13. Kim, T.; Kim, D.S. A note on type 2 Changhee and Daehee polynomials. Rev. R. Acad. Cienc. Exactas Fis. Nat. Ser. A Mat. RACSAM 2019, 113, 2783-2791. [CrossRef]
14. He, Y.; Araci, S. Sums of products of Apostol-Bernoulli and Apostol-Euler polynomials. Adv. Differ. Equ. 2014, 2014, 13. [CrossRef]
15. Roman, S. The umbral calculus. In Pure and Applied Mathematics; Academic Press Inc.: New York, NY, USA, 1984; p. 193, ISBN 0-12-594380-6.
16. Simsek, Y. Identities and relations related to combinatorial numbers and polynomials. Proc. Jangjeon Math. Soc. 2017, 20, 127-135.
17. Simsek, Y. Identities on the Changhee numbers and Apostol-type Daehee polynomials. Adv. Stud. Contemp. Math. 2011, 27, 199-212.
18. Zhang, W.; Lin, X. Identities invoving trigonometric functions and Bernoulli numbers. Appl. Math. Comput. 2018, 334, 288-294.
19. Kim, T.; Kim, D.S.; Kim, H.Y.; Kwon, J. Degenerate Stirling polynomials of the second kind and some applications. Symmetry 2019, 11, 1046. [CrossRef]
20. Kim, T.; Kim, D.S. Some identities of extended degenerate $r$-central Bell polynomials arising from umbral calculus. Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 2020, 114, 19. [CrossRef]
21. Kim, T.; Kim, D.S.; Kim, H.Y.; Jang, L.-C. Degenerate poly-Bernoulli numbers and polynomials. Informatica 2020, 31, 2-8.
© 2020 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (http:/ /creativecommons.org/licenses/by/4.0/).
